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02 2324l 15,360 15,360 0
OetFEXN2CAAE RRNES
153,600,000 * 10% 15,360
dAEH 22 2l 243,318 264,818 A 21,500
201 Let24E] 91,218 91,218 0
01 At 22l 8l 49,546 49,546 0
Oflger=&Hl] 49,546
OEXRJIAMM 7L 1,000& = 20074 200
OX& SUFH PL(0IRAIEE)
15,000& = 10074 1,500
octeEliA=a 120,000& * 274 3,240
O Eot0ls4l Zel 40,000& * 90MH 3,600
O IPE=7I 100,000& * 104 1,000
O &iatE 12,000& = 1074 120
OHXMASAZL O] 5,000& » 20 100
onl=zel 40,000& * 204 800
O I+ (A Z300W) 38,000& = 74 266
OZglH ABHEE 22 324,000& = 1094 3,240
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02 3322l 41,672 41,672 0
O[AIE &BIRXIBI] 41,672
O M&EH RAES
1,111, 100& = 720CH * 5% 40,000
ORIAFRKNES AMAEH 16,720,000& * 10% 1,672
405 XHoHF S HI 152,100 173,600 A 21,500
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OFAFH F 152,100
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O =g 900,000& = 33CH 29,700
OLES 2 Et=3(PDA) 1,800,000& = 3CH 5,400
data 29 17,594 17,594 0
201 LB-2dH| 17,594 17,594 0
01 At 2t 2l 16,320 16,320 0
Ofget=&dl] 14,520
OWHOIEZ 2 25,2003 = 100K 2,520
OMHBE stE0iA3 ¥ HRel 7Y
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O[fen=xdl] 1,800
O&& M2 WS 450,000 = 491 = 13| 1,800
02 3323l 1,274 1,274 0
O[MA &I R XYl 1,274
ogzasll SNEx 17,692,500& * 7.2% 1,274
ANZ? HFZIEAAE SSEH WA 50,063 66,750 216,687
= 15,984
[ia 34,079
201 Let24d] 50,063 66,750 A 16,687
= 15,984
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01 At 2teltl 50,063 66,750 216,687
OANZT HFFZBAAE SFSEH WX
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= 15,984
s 34,079
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OFE AIAHE RANES 13,392
o Wt (L4 ¥ ZatsE M)
13,440,000& * 8% 1,076
o IPS 490,000& = 123 5,880
o AMHE et 100,000& * 128 1,200
o =482 &KX AAE 183,333& * 123 2,200
o st 253,000 « 12& 3,036
H2sns 2 BOSALE 25 8,520 8,520 0
201 ¢er24| 2,700 2,700 0
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el JI=23Hl

= _ — SHE|
SA - BB B (BA) - MM - BHES Ol &+ o4 e
O[22 HA] 1,080
OYSXT M3t L SHRI
90,000& = 123 1,080
O[AE&EEIR Xl 3,600
O 3loa ¢&5&HHl RAHI
3,600,000 * 14l 3,600
202 O4dl 14,200 14,200
01 =L 4 Hi 14,200 14,200
SN2 SUAL 20,0008 * 521 x 1422 14,200
203 YR =2t 3,000 3,000
04 NI 3,000 3,000
ORN2EYR=AHI 250,000& ~ 123 3,000
W)= 22,117 22,117
201 Let24d] 11,317 11,317
01 At 22l 10,660 10,660
Olget+gl] 6.813
ORA2E SN 5,913,000& = 14| 5,913
O Zeolotattlol 2MEX 5 225 #¥
90,000& * 2& « 53] 900
Ol=&Hl] 3,847
ORAN2E SUNHA 3,847,000& * 14 3,847
02 232gHl 657 657
O[22 LHA] 657
OYRFX 2BLBR 730 * 9000H 657
202 oddl 10,800 10,800
01 SLHOYI 10,800 10,800
PA2Y SHUAHL 20,0008 * 421 x 135 10,800
sSEEI=23 13,980 13,980
201 Let24d] 7,560 7,560
01 At 22/l 7,560 7,560
Olger=&tl] 3,780
ORA2E SHA L 3,780,000 = 14 3,780
Ol=&Hl] 3,780
ORA2E SHUH4L 7,0008 62 » 90 3,780
202 oddl 6,420 6,420
01 SLHOIYI 6,420 6,420
ORAN2Y SHUAHL 20,0008 = 321 = 107 6,420
Mo I| 23l 16,968 16,970
201 Let24d| 9,288 9,290
01 At 22/l 9,288 9,290
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O[get=&dl] 4,647
OFRNM2E SUH & 4,647,000& = 14 4,647
O[=2Hbl] 4,641
OFNM2E SUHL 7,0008 = 32 » 221 4,641

202 O4HI 7,680 7,680

01 S LHAYI 7,680 7,680
ORN2Y SUAHL 20,0008 321 » 128 7,680




